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3apaua 3.1.
T T
= 4 31 2 — S —
Y sin 5 + cos 5

v=3mMm/c, x =2 M.

3apaua 3.2.

Y= 2—17 <e:’3/2 +3e*m/2> ,

v=4wm/c, z =8 M.

3apaua 3.3.

= 591 (€7 43),

v=2M/c,z=3 M.

Y

3anaua 3.4.

y = 2e%/8 — 2,

v=13 m/c, x =5 M.

3angaua 3.5.

y=161In(z/2 + 1),

v=>5M/c, 2 =106 M.

3anaua 3.6.
~ z(5+sin(x/4))
= 5 ,
v=9M/c,z=2Mm.

3apaua 3.7.

_ " (,zH2
= 5030 & +3)

v=2wm/c, z =4 M.

Y

3apaua 3.8.
2 s
= — SN —
Y= 7% 107
v==6wM/c, z =4 wm.

3apaua 3.9.
25
y - T + 27

v="TwMm/c, z =4 M.

3apaua 3.10.

rz+4
Yy = 3x cos R

v=2wM/c, =3 M.

3apaua 3.11.

y=15In(z/2 + 1),

v=4wM/c, z=3 M.

3agaua 3.12.
32
sin(z/2) + 3’

v=2M/c, T =2 M.

y:

3agaua 3.13.

y =32In(z/2 4+ 1),

v=4wMm/c, =16 M.

3agaua 3.14.
2
Y= % + 12sin 1—2,
v="TmM/c, 2 =106 M.

3angaua 3.15.
Y 4 9sin =~
= — in —
Yy = cos i S 0

v =20 M/c, x =6 M.

3agaua 3.16.
5[72 + . X
= — +sin —
Y= 10’

v=>5wM/c, T =2 M.

3agaua 3.17.
y = 5 cos? g + 4z,

v=2M/c, =2 M.

3angaua 3.18.

y = 2e*/9 — 2z,

v=15wM/c, x =5 m.




3apaua 3.19. 3anaua 3.20. 3agaua 3.21.
22 x(3 + sin(z/3))
Y sin(x/2) + 3’ = 1 ) y = 2e” 3,
v=3mMm/c, x =06 M. v=9M/c,z=4wm. v=13 m/c, =06 m.
3amauya 3.22. 3amaua 3.23. 3amauya 3.24.
y = i ~ x(6 + cos(x/3)) 22 o
sin(z/5) + 3’ = 7 ) y:?+4smm,

v=3wMm/c, =4 M.

v=10 M/c, x =1 m.

v=>5mM/c,z=1M.

3agaua 3.25.

= % (€m+2 + 2) 5

v=2wM/c, =3 M.

Y

3angaua 3.26.
_ <z)4 492
y - 8 T )

v=3M/c, T =06 M.

3apaua 3.28.

Y L (ex/z + 567$/2> ,

T o7
v=4Mm/c, =8 M.

3amaua 3.27.
X + 562
=cos— + —
Yy 3 6’

v=>5mM/c, z=3m.

3apaua 3.29.
T
=4
Yy 42

v=4wm/c,z=1M.

3angaua 3.31.
y = bx — 4 arctan %,

v=2wMm/c,z=1M.

3agaua 3.30.

28
sin(z/2) + 3’

v=2M/c, T =5 M.

y:

3agaua 3.32.
y =34z + 3,

v=8M/¢c, z =3 M.

3angaua 3.33.

y = 3sin?(x/3) + 2,

v=>5M/c, T =3 M.
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Yy’ y” Vg vy |cos(a)| ag ay a R

1| 1.398|-0.967| 1.745| 2.440| 0.582| 1.395|-0.998| 1.715 5.248
2| 1.010| 0.506| 2.814| 2.843| 0.704|-2.004| 1.984|2.820| 5.674
3| 1.002| 1.235| 1.413| 1.415|0.706| -1.233| 1.231| 1.742 2.296
4(-1.533| 0.058| 7.103|-10.888| 0.546| 1.348| 0.879|1.609| 105.018
5| 2.000(-0.250| 2.236| 4.472| 0.447| 0.500|-0.250{0.559| 44.721
6| 0.986| 0.063| 6.407| 6.320| 0.712| -1.296| 1.314| 1.846| 43.887
7| 1.000| 1.198| 1.414] 1.414| 0.707| -1.198| 1.198| 1.694 2.361
8| 1.794| 0.314| 2.921| 5.241| 0.487| -1.139| 0.635| 1.304| 27.600
91-0.694| 0.231| 5.750| -3.993| 0.821| 3.585| 5.163|6.285|  7.796
10| 1.060|-0.666| 1.373| 1.454| 0.686| 0.626|-0.591| 0.861 4.645
11| 3.000{-0.600| 1.265| 3.795| 0.316| 0.288|-0.096|0.304| 52.705
121-0.586| 0.539| 1.726| -1.011| 0.863| 0.700| 1.194|1.384| 2.890
13 4.000{-0.500| 0.970| 3.881| 0.243| 0.111|-0.028| 0.114| 140.186
14| 2.494| 0.260| 2.605| 6.497| 0.372|-0.610| 0.245|0.657| 74.532
15| 0.555/-0.024|17.487| 9.706| 0.874| 3.078|-5.546|6.343| 63.063
16| 1.098| 0.498| 3.367| 3.697| 0.673|-2.810| 2.559| 3.801 6.577
17| 1.727| 1.040| 1.002| 1.731| 0.501|-0.453| 0.262|0.524| 7.637
18] -1.613| 0.043| 7.905|-12.748| 0.527| 1.204| 0.747| 1.417| 158.771
19| 1.104| 0.427| 2.014| 2.223| 0.671|-0.861| 0.780| 1.162 7.746
20| 1.071/-0.069| 6.141| 6.579| 0.682| 1.294|-1.208| 1.770| 45.763
21|-2.471| 0.066| 4.877|-12.050| 0.375| 0.547| 0.222/0.590| 286.246
22|-0.716| 0.201| 2.439| -1.746| 0.813| 0.566| 0.791/0.973| 9.250
23| 0.977|-0.046| 7.154| 6.987| 0.715| 1.181|-1.209|1.690| 59.156
24| 1.065| 0.663| 3.423| 3.644| 0.685|-3.875| 3.640| 5.316| 4.703
25| 0.999| 1.245| 1.415| 1.414] 0.707|-1.246| 1.247| 1.762 2.270
26| -1.511| 0.680| 1.655| -2.502| 0.552| 0.857| 0.567|1.028|  8.758
27| 0.954| 0.319| 3.617| 3.452| 0.723|-2.083| 2.183| 3.018 8.284
28| 1.009| 0.506| 2.815| 2.842| 0.704|-2.007| 1.988|2.825| 5.665
29| 0.889(-0.593| 2.990| 2.657| 0.747| 2.630|-2.959|3.959| 4.042
30| 0.866| 0.516| 1.512| 1.309| 0.756|-0.584| 0.674|0.892| 4.484
31| 4.231| 0.059| 0.460| 1.946| 0.230{-0.003| 0.001{0.003|1388.542
32| 1.549|-0.207| 4.339| 6.721] 0.542| 1.772| -1.144| 2.109| 30.351
33| 2.909|-0.277| 1.625| 4.728| 0.325| 0.225|-0.077|0.238| 104.944
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